

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bach Oil Production 82 W. 500 Ln. Phillipsburg, KS 67661

INVOICE

Invoice Number: 140737

Invoice Date: Jan 11, 2014

Page:

1

a grant	Customer ID	Field Ticket#	Payment	Terms	
Bach		55101	Net 30 Days		
NO. BERTON	Job Location	Camp Location	Service Date	Due Date	
ĺ	KS2-01	Russell	Jan 11, 2014	- 2/10/14	

Quantity	item	Description	Unit Price	Amount
1.00	WELL NAME	Donna Fae #1		
175.00	CEMENT MATERIALS	Class A Common	17.90	3,132.50
	CEMENT MATERIALS	Gel	23.40	76.99
1	CEMENT MATERIALS	Chloride	64.00	384.00
	CEMENT SERVICE	Cubic Feet Charge	2.48	468.70
I .	CEMENT SERVICE	Ton Mileage Charge	2.60	1,121.82
	CEMENT SERVICE	Surface	1,512.25	1
	CEMENT SERVICE	Heavy Vehicle Mileage – 2 units	7.70	770.00
l .	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
	CEMENT SUPERVISOR	Glenn Ginther		
1	EQUIPMENT OPERATOR	Light Vehicle Mileage Glenn Ginther Nathan Donner Kevin Rupp		
	EQUIPMENT OPERATOR	Kevin Rupp		
		. , ,		
	<u> </u>	Subtotal		7,686.26

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1,921.57

ONLY IF PAID ON OR BEFORE Feb 5, 2014

Subtotal	7,686.26
Sales Tax	238.97
Total Invoice Amount	7,925.23
Payment/Credit Applied	
TOTAL:	7,925.23

ALLIED OIL & GAS SERVICES, LLC 055101 Federal Tax 1.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
RUSSELL, KANSAS 07003	Lussell RS.
DATE /-//-// SEC. TWP. RANGE 9 a)	CALLED OUT ON LOCATION JOB START JOB FINISH
LEASE Dang For WELL# / LOCATION PHILLIPS	BORG KS. 10 M 9 W/ 1/25 PHILLIPS CANSAS
OLD OIL NEW (Circle one)	12 E
CONTRACTOR MUREIN DRIG, Rig #24	OWNER
TYPE OF JOB SURFACE	COMPANY.
HOLE SIZE 12 14 T.D. 230 CASING SIZE 85/3 New DEPTH 2.18	CEMENT AMOUNT ORDERED 17.5 SX Com.
TUBING SIZE 23 #cso DEPTH	37000 - 37000
DRILL PIPE DEPTH	2%GeL
TOOL DEPTH	COMMON 175 @ 17 90 3/32,5°C
PRES, MAX MINIMUM MEAS, LINE SHOE JOINT	COMMON 17.5 @ 17.70 3/32.30 POZMIX @
CEMENT LEFT IN CSG. 15'	GEL 3.29 @ 23.40 76.99
PERFS. /	CHLORIDE 6 @ 64.00 384.50
DISPLACEMENT 13 /BBL	ASC@
EQUIPMENT/	@
· ·	
PUMPTRUCK CEMENTER GRAA G	@
# 409 HELPER NO CHON D.	
BULK TRUCK # 378 DRIVER Keiky R.	@
# 378 DRIVER Kenky R. BULK TRUCK	
# DRIVER	HANDLING 8899 @ 248 468,71
	MILBAGR 50 43 148 02.60 1121,84
REMARKS:	TOTAL \$184,03
Ray 5 New Tolut OF 23# 858 CSq.	
Set @ 219 , Bocieves Circulation & Coment ul 175 sx com, 3 +2,	SERVICE
Displaced 13 BBL H2 BOHIND Co	DEPTH OF JOB
Shot in @ 250#,	PUMPTRUCK CHARGE /5/2.25
Cement Did Circulate To Surface	EXTRA FOOTAGE @ 770.00
THANKS	MILEAGE SO HUMIX 2 @ 7.70 385 FOO MANIFOLD @
	Lynr 50 @4.40 22000
	@
CHARGE TO: BOCH OIL Company	TOTAL 2502, 25
STREET	
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
•	
	·@
To Allied Oil & Gos Comilege LT C	
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	
and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	CALECTAY (16 Ann)
TERMS AND CONDITIONS" listed on the reverse side.	71.01 2.8-
A A M	TOTAL CHARGES
PRINTED NAME An hany Mar Tin	SALES TAX (If Any) TOTAL CHARGES 7686, 28 DISCOUNT: 1921, 57 IF PAID IN 30 DAYS 5764,71
(Al Mod	£76471 °
SIGNATURE TATALON / / WOOL	
-	•



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Bach Oil Production 82 W. 500 Ln.

Phillipsburg, KS 67661

INVOICE

Invoice Number: 140927

Invoice Date: Jan 17, 2014

Page:

1

Customer_ID	Field, Ticket #	Paymen	tTerms
Bach	61844	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS2-03	Great Bend	Jan 17, 2014	2/16/14

Quantity	ltem	Description	Unit Price	Amount
1.00	WELL NAME	Donna Fae #1		
132.00	CEMENT MATERIALS	Class A Common	17.90	2,362.80
88.00	CEMENT MATERIALS	Pozmix	9.35	822.80
8.00	CEMENT MATERIALS	Gel	23.40	187.20
55.00	CEMENT MATERIALS	Flo Seal	2.97	163.35
236.99	CEMENT SERVICE	Cubic Feet Charge	2.48	587.74
494.00	CEMENT SERVICE	Ton Mileage Charge	2.60	1,284.40
1.00	CEMENT SERVICE	Rotary Plug	2,249.84	2,249.84
50.00	CEMENT SERVICE	Pump Truck Mileage	7.70	385.00
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
1.00	EQUIPMENT SALES	8-5/8 Wooden Plug	107.64	107.64
1.00	CEMENT SUPERVISOR	Dustin Chambers		
1.00	EQUIPMENT OPERATOR	Kevin Eddy		
1.00	OPERATOR ASSISTANT	Kevin Weighous		
	manus of the Company of the Company			
}				1
	•			ı
			.	1
				1
			. ,	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1,674.15

ONLY IF PAID ON OR BEFORE Feb 11, 2014

Subtotal	8,370.77
Sales Tax	556.66
Total Invoice Amount	8,927.43
Payment/Credit Applied	
TOTAL	8,927.43

ALLIED OIL & GAS SERVICES, LLC 061844 Federal Tax I.D. # 20-8651475

SERVICE POINT:

REMIT TO P.O. BOX 93999

SOUTHLAKE, TEXAS 76092			GreaT.	Bengles
DATE 1-1744 SEC. TWP. 2 RANGE 196	CALLED OUT	ON LOCATION	JOB START 9:30 AM	JOB FINISH
	Tosburg 10	WEW	COUNTY	STATE
OLD OR NEW (Circle one)	1 61111 g 12		1 4.3/2	1 / 1/
CONTRACTOR Muxfin #29	OWNER	· · · · · · · · · · · · · · · · · · ·	_ .	
TYPE OF JOB ROYDY Plag	· · · · · · · · · · · · · · · · · · ·			
HOLE SIZE 77/8 / T.D.	CEMENT			
CASING SIZE & S/4 DEPTH	AMOUNT ORDI	EPED 22	OSKe 1	me de
TUBING SIZE DEPTH	140 16 0		111.00	0711195
DRILL PIPE U/2 DEPTH 1835	40 y por	- 479e1	11140	
			 	
	22	100		
	COMMON	132		2362.80
MEAS. LINE SHOE JOINT	POZMIX	88	_@ <i>9.3</i> 5_	822.80
CEMENT LEFT IN CSG. 1911	GEL	8	@ 23.40	187.20
PERFS.	CHLORIDE			
DISPLACEMENT Freshword	ASC			·
EQUIPMENT	flose	0 66	@ 297	163.34
EQUITMENT				_10000
				
PUMPTRUCK CEMENTER DUSTY Chambers	A management of the second of		@	-
# 366 HELPER Key'n Books			_@	
BULK TRUCK	·		_@	
# 610-170 DRIVER KayIn Warghous) 		_@	
BULK TRUCK	J		@	· 12
#DRIVER			_@	
DRIVER	HANDLING 2	36.99	@2.48	587.74
	MILEAGE 9.	88× 50 1	(2.60	1284.40
REMARKS:	COLUMN TO THE PERSON OF THE PE		T	
			TOTAL	5408.29
fill hole with Rito Hund			7	
1,1835 -25 9KS		SERVI	CE	
21200-100165				
3.270-405FS	DEPTH OF JOB	***	1835	
4,40- 106KS				19.84
5, RH - 409KS	PUMP TRUCK C	***************************************		79.87
(,MH-156KS	EXTRA FOOTA		_@	
	MILEAGE <u>H</u>	VM 50	_@ <u>_7.70</u>	385.00
plug 1000 100 AM	MANIFOLD			<u> </u>
T	L	VM 50	@ 4,40	220.00
2 1 2	Type of the second great design and		@	
CHARGE TO: Back ON Con	<u> </u>	. 500 .	· · · · · · · · · · · · · · · · · · ·	*************************************
CHARGE IO. 174(7) OF 1 O O				فالمساف المساخلات
STREET			TOTAL	2854-84
		4.6		
CITYSTATEZIP				
	PL	UG & FLOAT	T EQUIPMEN	T
	1-6701.8	od Plus	0 107 111	107 111
	1-5/4/2	000 1107	_@ <i>_107.64</i>	107.64
	·		_@	
To: Allied Oil & Gas Services, LLC.				
You are hereby requested to rent cementing equipment			_@	
and furnish cementer and helper(s) to assist owner or	***	the state of the s	_@	
contractor to do work as is listed. The above work was				
			momit	107.64
done to satisfaction and supervision of owner agent or			TOTAL	107.67
contractor. I have read and understand the "GENERAL				
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If A	(ny)		
	TOTAL CHARGI		۸. ۲ ۲	
vA 1 An.	IUIAL CHARGI	30 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	<u> </u>	
PRINTED NAME ANTHONY MOIT TO	DISCOUNT	1. 20 3.	1.	IN 30 DAYS
	DISCOUNT		IF PAIL	A YAN DC NIT C
N/That What	<i>4</i>	6.696	, 61	
SIGNATURE W WM WAR ALL THE	W.	www.y		